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SECTION A: MULTIPLE CHOICE QUESTIONS (70 points)
HƯỚNG DẪN PHẦN THI NGHE HIỂU

· 
Bài nghe gồm 3 phần, mỗi phần được nghe 2 lần, mỗi lần cách nhau 20 giây, mở đầu và kết thúc mỗi phần nghe có tín hiệu.

· 
Thí sinh có 2 phút để hoàn chỉnh bài sau khi kết thúc 3 phần nghe.
· 
Mọi hướng dẫn cho thí sinh (bằng tiếng Anh) đã có trong bài nghe.

PART 1. LISTENING
TEST 1. 

You will hear a conversation between Adam and Carol. Listen and choose the option which best fits according to what you hear. Mark the letter A, B, C, or D on your answer sheet from 1 to 5.

Question 1. Adam went to bed late because​​​​​​​​​​​​ ___________.
A. he was fixing his computer
  
            B. he didn’t feel tired  [image: image1.png]


 

C. his son felt sick 




D. he played computer games

Question 2. Adam’s son returned to bed at ___________.
A. four o’clock a.m




B. six o’clock a.m

C. a quarter to seven a.m



D. half past four

Question 3. At ten to eight ___________.
A. Adam’s alarm clock went off  [image: image2.png]


 


B. Adam got up  [image: image3.png]



C. Adam left home  [image: image4.png]






D. Adam went to work

Question 4. In the morning, Adam didn’t have time to ___________.
A. wash his face      

B. have breakfast  [image: image5.png]


  C. buy petrol

    D. eat bread first  [image: image6.png]



Question 5. Adam borrowed money to buy___________.
 A. a bus ticket  [image: image7.png]


   

B. lunch  [image: image8.png]


                 C. petrol

    D. computer  

TEST 2. 

You will hear part of a radio programme in which two athletes, Julia Im and Darren Finn, are discussing their success at a recent athletics event. Listen and choose the option which best fits according to what you hear. Mark the letter A, B, C or D on your answer sheet from 6 to 10.
Question 6. Julia believes the main reason for the newfound success in tennis is due to ___________.

A. an increase in the number of coaching staff

B. the level of financial investment in the sport

C. the recently improved range of facilities 

D. the impact of foreign coach
Question 7. Which of the following is NOT mentioned as the obstacles to Julia’s success?

A. Insufficient infrastructure
B. Inappropriate coaching system
C. Lack of self-discipline
D. Lack of professionalism
Question 8. Julia and Darren agree that ___________.

A. the sporting infrastructure needs to be improved

B. there is a lack of experienced foreign coaches

C. there will be a huge funding increase for both their sports now

D. the coaching policy was a key ingredient in their success
Question 9. Why does Darren think that most of his colleagues are not fortunate enough?


A. They don’t train to become professionals.

B. They don’t attain sponsorship for their training.

C. They don’t have a chance to work with full-time professionals.

D. They don’t receive full-time training.
Question 10. Darren suggests that his motivation to succeed was ___________.

A. to remove some of the obstacles to future success

B. so as not to have to work part-time

C. in order to get corporate sponsorship

D. to receive a generous grant
TEST 3.  You will hear two architecture students, Gareth and Hilary, discussing the course they are doing. Listen and choose the correct answer for each question from 11 to 15.

Question 11. At the start of the course, Hilary and Gareth were asked to model a new city to see if they could ____________ .
A. anticipate the changes they would have to make

B. recognize the problems they would encounter

C. plan a fully functional city with all amenity

D. pinpoint the principal items to include

Question 12. What aspect of what they have learned particularly interested Hilary?

A. The features that can be provided below ground.
B. The number of people who would be living in cities.
C. The above ground facilities for skyscrapers.
D. The increase in construction of taller buildings.
Question 13. What compromise do they believe architects have to make?

A. They have to include a certain number of homes in their skyscrapers.
B. They have to sacrifice some innovations for financial reasons.
C. They must build something they can sell to make money.
D. They need to follow a budget that can be very restrictive.
Question 14. What do Gareth and Hilary agree on about The Bank of America Tower?

A. That it uses recycled water in the basement and the building.
B. That it will be surpassed by something more ground-breaking.
C. That it utilizes less expensive electricity at certain times.
D. That it is the tallest building in New York City at the moment.
Question 15. What is Gareth going to do his project on?

A. The best use of sunlight in a building and the surrounding areas.
B. The means of evacuation for hundreds of people in skyscrapers.
C. The improvement of solar energy use for heating purposes.
D. The design of buildings so that people have more personal space.
PART 2. PHONETICS
Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from that of the other three in pronunciation in each of the following questions. 

Question 16. A. expansion
   B. dispersion
    C. convulsion
           D. precision

Question 17. A. feather
   B. leather                      C. feature                           D. measure
Question 18. A. champagne
   B. champion

    C. parachute
           D. moustache
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions. 

Question 19. A. ambitious       B. visionary                  C. creative                          D. impressive
Question 20. A. archeology
   B. phonological
    C. encyclopaedia
            D. aborigine 
PART 3. LEXICO-GRAMMAR
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 

Question 21. This brings me to another point: why aren't you and Sara tying the ___________?
A. noose 
B. rope
 C. knot

D. string

Question 22. It is the recommendation of many psychologists___________to associate words and remember names.

A. that a learner must use mental images
B. that a learner uses mental images
C. mental images are used
D. that a learner use mental images
Question 23. ___________for the final interview, the candidates were asked to prepare a short presentation.
A. Having selected
B. Being selected
C. Having been selected
D. Selecting
Question 24. ___________ appear, they are really much larger than the Earth. 

A. Small as the stars
B. Despite the small stars 
C. The stars as small 
D. As the small stars
Question 25. The International Committee of the Red Cross is a private___________institution founded in 1863 in Geneva, Switzerland.

A. human

              B. humanity                  C. humanization
                  D. humanitarian

Question 26. The new soap opera on Channel 3 ___________ the depths in terms of tastelessness.

A. plumbs 
       B. reaches 
    C. fills
         D. achieves

Question 27. As was ___________predicted, the company has announced hundreds of job losses.

A. considerably
       B. widely
    C. substantially
         D. amply

Question 28. It was a new motorbike___________.
A. my dad bought me last week
B. that my dad bought me last week

C. which my dad bought me last week
D. that my dad buys me

Question 29. He regretted ___________ a more interesting course at university.

A. having chosen

B. having been chosen

C. not having been chosen

D. not having chosen

Question 30. The railway line has been closed for ten years and the station buildings are now sadly ___________.

A. decrepit

                  B. derelict

      C. decomposed
                D. discarded

Question 31. The new production of Othello is very ambitious and extremely interesting, but somehow it doesn’t quite ___________.
A. come off

                  B. come down
       C. come through
                D. come round

Question 32. Your languages will ___________when it comes to finding a job. 

A. stand you in good stead 



       B. talk the hind leg off the donkey 

C. stand on your dignity 



       D. drink you under the table 

Question 33. Many young readers ___________ with the protagonist in the novel, seeing their own struggles and aspirations reflected in his journey towards self-discovery. 

 A. relate 

                   B. reflect 

       C. identify 

     D. match

Read the following advertisement/ announcement and mark the letter A, B, C, or D on your answer sheet to indicate the correct option that best fits each of the numbered blanks from. 

ANNOUNCEMENT OF SCHOOL INVENTION WORKSHOP.

The School LEMESON-MIT would like to announce:

• All students from High school and Community college (34) ___________to be present and showcase their inventions on June 12-14,2024.


• You’ll hear from expert speakers, educators, and colleagues about activities and techniques that help diverse student populations develop (35) ___________ confidence in their ability to engage in STEM. 


• You will participate in small group workshops to develop skills tailored (36) ___________ your interests. 
Meet and work with thought leaders in education as well as our Invention Education Fellows educators who have extensive experience incorporating invention education into the classroom. 

Click here to meet the Fellows you’re interested in this Workshop. 

	Question 34. A. are encouraged
Question 35. A. a
Question 36. A. in
	B. be encouraged
	C. encouraged
	D. have encouraged

	
	B. no article
	C. an
	D. the

	
	B. on
	C. with
	 D. to


	FREE SUNGLASSES AND CASE
Purchase a 12-month subscription to Vacation the Nation today and receive a free pair of Sunnies Sunglasses with your very own soft leather case. 
* To get your free Sunnies follow these 3 easy steps.

- Purchase a copy of Vacation the Nation, New York's #1 Travel magazine.

- (37) ___________ the application card (found in the center of the magazine)

- Mail the card and $21. 95 US to the address (38) ___________.
*This is a limited time offer only. Application and funds must be received no (39) ___________  May 11th 2024. Canadian residents should add $3 US for shipping. Offer not available for residents outside of North America.


Question 37. A. Fill out
B. Carry out
C. Take out
D. Look out

Question 38. A. detailed
B. sent
C. provided
D. completed
Question 39. A. more lately than
B. later than
C. the latest
D. late
Mark the letter A, B, C, or D on your answer sheet to indicate the correct option that best fits each of the numbered blanks .

Many scientists believe our love of sugar may be an addiction. (40) ___________, the sugar enters our blood and affects parts of our brain. (41) ___________. Then the good feeling goes away, leaving us wanting more. All tasty foods do this, but sugar has a (42) ___________. In this way, it is in fact an addictive drug, one that doctors recommend we all cut down on. “It seems like every time I study an illness and (43) ___________, to the first cause, I find (44) ___________, back to sugar,” says scientist Richard Johnson. One-third of adults worldwide have high blood pressure, and up to 347 million have diabetes. Why? "Sugar, we believe, is one of the culprits, if not the major culprit," says Johnson.So what is the solution? It’s obvious that we need to eat less sugar. Many schools are replacing sugary desserts with healthier options like fruit. Other schools are growing their own foods in gardens, or (45) ___________, like walking tracks so students and others in the community can exercise.

Question 40.  A. As we will eat or drink sugary foods 
B. Eating and drinking sugary foods

  C. After we ate or drank sugary foods
D. When we eat or drink sugary foods
Question 41.  A. This makes us feel good


B. It makes us to feel good



C. Which makes us feel good


D. Making us to feel good

Question 42.  A. strong particularly effect

B. particularly effect strong

C. particularly strong effect

D. effect strong particularly 

Question 43.  A. trace a path




B. a path to be traced


C. tracing a path



D. a path tracing

Question 44.  A. my way




B. our way


C. their way




D. his way 

Question 45.  A. facilities to build



B. build facilities

                       C. to build facilities



D. building facilities
PART 4. READING
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks.

A school-leaver (46) ___________ to an individual who has recently completed their secondary education and is transitioning (47) ___________ the next phase of their academic or professional journey. It is a significant milestone in their lives, as they (48) ___________ farewell to their school years and embark on a new chapter. School-leavers face a myriad of options and decisions, (49) ___________from pursuing higher education to vocational training or entering the workforce directly. This period marks a crucial time for self-reflection and exploration, (50)___________ they discover their passions, interests, and strengths while considering the future pathways available to them.

For many school-leavers, the decision to continue their education at a college or university is a popular choice. Higher education provides an opportunity to specialize in a specific field of study and gain (51) ___________ knowledge and skills. It opens the (52) ___________ to a wide range of career opportunities and equips individuals with critical thinking, problem-solving, and communication skills essential for success in today’s competitive world. Alternatively, some school-leavers may opt (53) ___________ vocational training or apprenticeships, seeking hands-on experience and practical skills  that (54) ___________ apply to specific industries or trades. This (55) ___________offers a more focused and efficient route to employment, allowing individuals to acquire specialized skills and enter the workforce sooner.

                                    (Adapted from www.chronicle.com)

	Question 46.
	A. refers
	B. prefers
	C. applies
	D. infers

	Question 47.
	A. at
	B. with
	C. into
	D. for

	Question 48.
	A. buy
	B. bid
	C. abide
	D. talk

	Question 49.
	A. range
	B. ranged
	C. ranging
	D. to range

	Question 50.
	A. for
	B. as
	C. by the time
	D. but

	Question 51.
	A. in- deep
	B. in- deeepen
	C. in-depth
	D. in- death

	Question 52.
	A. window
	B. route
	C. doorway
	D. door

	Question 53.
	A. for
	B. out
	C. in
	D. to

	Question 54.
	A. strongly
	B. abruptly
	C. suddenly
	D. directly

	Question 55.
	A. doorway
	B. street
	C. pathway
	D. track


Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.

                    Homelessness is a complex and pervasive issue that affects individuals and communities worldwide. It refers to the condition of not having a stable, permanent place to live. Homelessness can arise from a variety of factors, including poverty, lack of affordable housing, mental health issues, substance abuse, and systemic inequality. People experiencing homelessness often face significant challenges, including limited access to basic necessities, healthcare, employment opportunities, and social support networks. The impact of homelessness extends beyond individuals themselves and affects society as a whole. Homeless individuals often face stigma, discrimination, and social isolation, making it difficult for them to reintegrate into mainstream society. Homelessness also places a burden on public resources, such as emergency shelters, healthcare systems, and law enforcement, as they strive to address the immediate needs and provide assistance to those without homes.

         Efforts to address homelessness involve a multifaceted approach that combines short-term and long-term solutions. Immediate interventions include providing emergency shelters, transitional housing, and access to basic services like food, healthcare, and mental health support. However, long-term solutions focus on addressing the root causes of homelessness, such as affordable housing initiatives, poverty alleviation measures, and comprehensive support programs that address mental health, addiction, and employment. Moreover, addressing homelessness requires collaboration and coordination among governments, nonprofit organizations, and communities. Effective strategies involve a combination of policy changes, community engagement, and resource allocation to provide stable housing options, supportive services, and opportunities for homeless individuals to rebuild their lives. By recognizing the complex factors contributing to homelessness and implementing comprehensive solutions, societies can strive to reduce homelessness, alleviate suffering, and promote social inclusion for all individuals.

                              (Adapted from Education World)
Question 56. Which of the following can be the best title for the passage?

A. The Impact of Homelessness on Society

B. The Multifaceted Approach to Addressing Homelessness

C. The Challenges Faced by Homeless Individuals

D. Understanding the Homelessness

Question 57. The word "pervasive" in paragraph 1 is closest in meaning to ___________.
A. prevalent                           B. epidemic
C. colossal
D. miniature

Question 58. The word "they” in paragraph 1 refers to ___________.
A. emergency shelters

B. law enforcement

C. healthcare systems

D. public resources

Question 59. The word "alleviate” in paragraph 2 is closest in meaning to ___________.
A. ease
B. aggravate
C. execute
D. control
Question 60. Which of the following is not true according to the passage?

A. Homelessness can arise from factors such as poverty, lack of affordable housing, mental health issues, substance abuse, and systemic inequality.

B. Homeless individuals often face challenges in accessing basic necessities, healthcare, employment opportunities, and social support networks.

C. Homelessness only affects individuals and does not have any impact on society.

D. Homelessness places a burden on public resources, such as emergency shelters, healthcare systems, and law enforcement.

Question 61. Which of the following can be inferred from the passage?

A. Collaboration and coordination among governments, nonprofit organizations, and communities are essential to addressing homelessness effectively.

B. Homelessness is a problem that only affects a few isolated individuals and does not have broader societal implications.

C. Providing immediate interventions, such as emergency shelters and transitional housing, is the most effective long-term solution to homelessness.

D. The root causes of homelessness are solely related to mental health issues and substance abuse.

Question 62. The homeless can put up with all of the followings, EXCEPT ___________.
A. stigma




B.  discrimination

 C.  social isolation



D. grants
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.


                      EXOTIC AND ENDANGERED SPECIES

When you hear someone bubbling enthusiastically about an exotic species, you can safely bet the speaker isn’t an ecologist. This is a name for a resident of an established community that was deliberately or accidentally moved from its home range and became established elsewhere. Unlike most imports, which can’t take hold outside their home range, an exotic species permanently insinuates itself into a new community.

Sometimes the additions are harmless and even have beneficial effects. More often, they make native species endangered species, which by definition are extremely vulnerable to extinction. Of all species on the rare or endangered lists or that recently became extinct, close to 70 percent owe their precarious existence or demise to displacement by exotic species. Two examples are included here to illustrate the problem.

During the 1800s, British settlers in Australia just couldn’t bond with the koalas and kangaroos, so they started to import familiar animals from their homeland. In 1859, in what would be the start of a wholesale disaster, a northern Australian landowner imported and then released two dozen wild European rabbits (Oryctolagus cuniculus). Good food and good sport hunting – that was the idea. An ideal rabbit habitat with no natural predators was the reality.

Six years later, the landowner had killed 20,000 rabbits and was besieged by 20,000 more. The rabbits displaced livestock, even kangaroos. Now Australia has 200 to 300 million hippityhopping through the southern half of the country. They overgraze perennial grasses in good times and strip bark from shrubs and trees during droughts. You know where they’ve been; they transform grasslands and shrub lands into eroded deserts. 

They have been shot and poisoned. Their warrens have been plowed under, fumigated, and dynamited. Even when all-out assaults reduced their population size by 70 percent, the rapidly reproducing imports made a comeback in less than a year. Did the construction of a 2,000-mile-long fence protect Western Australia? No. Rabbits made it to the other side before workers finished the fence.

In 1951, government works introduced a myxoma virus by way of mildly infected South American rabbits, its normal hosts. This virus causes myxomatosis. The disease has mild effects on South American rabbits that coevolved with the virus but nearly always had lethal effects on O. cuniculus. Biting insects, mainly mosquitoes and fleas quickly transmit the virus from host to host. Having no coevolved defenses  against the novel virus, the European rabbits dies in droves. But, as you might expect, natural selection has since favored rapid growth of populations of O. cuniculus resistant to the virus.

In 1991, on an uninhabited island in Spencer Gulf, Australian researchers released a population of rabbits that they had injected with a calcivirus. The rabbits died quickly and relatively painlessly from blood clots in their lungs, hearts, and kidneys. In 1995, the test virus escaped from the island, possibly on insect vectors. It has been killing 80 to 95 percent of the adult rabbits in Australian regions. At this writing, researches are now questioning whether the calcivirus should be used on a widespread scale, whether it can jump boundaries and infect animals other than rabbits (such as humans), and what the long – term consequences will be.

A vine called kudzu (Puerarialobata) was deliberately imported from Japan to the United States, where it faces no serious threats from herbivores, pathogens, or competitor plants. In temperate parts of Asia, it is a well – behaved legume with a well – developed root system. It seemed like a good idea to use it to control erosion on hills and highway embankments in the southeastern United States. With nothing to stop it, though, kudzu’s shoots grew a third of a meter per day. Vines now blanket stream banks, trees, telephone poles, houses, and almost everything else in their path. Attempts to dig up or burn kudzu are futile. Grazing goats and herbicides help, but goats eat other plants, to, and herbicides contaminate water supplies. Kudzu could reach the Great Lakes by the year 2040.

On the bright side, a Japanese firm is constructing a kudzu farm and processing plant in Alabama. The idea is to export the starch to Asia, where the demand currently exceeds the supply. Also, kudzu may eventually help reduce logging operations. At the Georgia Institute of Technology, researchers report that kudzu might become an alternative source for paper.

                       (Adapted from Tuyển tập đề thi Olympic 30 tháng 4 , lần thứ XIX)

Question 63. Based on the information in paragraph 1, which of the following best explains the term “exotic species”?

A. Animals or plants on the rare species list.

B. A permanent resident in an established community.

C. A species that has been moved to a different community.

D. An import that fails to thrive outside of its home range.

Question 64. The world “itself”  in paragraph 1 refers to __________. 

A. most imports        
B. new community   

C. home range           D. exotic species

Question 65. According to the author, why did the plan to introduce rabbits in Australia fail?

A. The rabbits were infected with a contagious virus.

B. Most Australians did not like the rabbits.

C. No natural predators controlled the rabbit population.

D. Hunters killed the rabbits for sport and for food.

Question 66. All of the following methods were used to control the rabbit population in Australia EXCEPT ___________. 

A. They were poisoned.



B. They were moved to deserts.

C. Their habitats were buried.



D. They were surrounded by fences

Question 67. Why does the author mention “mosquitoes and fleas”  in paragraph 6?

A. Because they are the origin of the myxoma virus.

B. Because they carry the myxoma virus to other animals.

C. Because they die when they are infected by myxoma.

D. Because they have an immunity to the myxoma virus.

Question 68. According to paragraph 7, the Spencer Gulf experiment was dangerous because ____________.

A. insect populations were exposed to a virus.
B. rabbits on the island died from a virus.

C. the virus may be a threat to humans.
D. some animals are immune to the virus.

Question 69. Why does the author give details about “the kudzu farm” and “processing plant” in paragraph 9?

A. To explain why kudzu was imported from abroad.

B. To argue that the decision to plant kudzu was a good one.

C. To give a reason for kudzu to be planted in Asia.

D. To offer partial solutions to the kudzu problem.

Question 70. Which of the following statements most accurately reflects the author’s opinion about exotic species?

A. Exotic species should be protected by ecologists.

B. Importing an exotic species can solve many problems.

C. Ecologists should make the decision to import an exotic species.

D. Exotic species are often disruptive to the ecology.
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SECTION B: WRITING (30 points)

Part 1. Letter writing (10 points)
Your neighbour has recently written to you to complain about the noise from your flat.
Write a letter to the neighbour. In your letter, you:
· Explain the reason for the noise.
· Apologise.
· Describe what actions you will take. 

Write about 150- 180 words.

You do NOT need to write any addresses.

Begin your letter as follows:

Dear Mr. Bean,

………………

Part 2. Essay writing (20 points)
These days, more and more people are turning to cosmetic surgery to enhance their outward appearance. Some people think this trend will have positive influence, while others believe that it may result in the loss of true beauty's value, thereby worth being forbidden.  Which idea do you agree with? 

     Give reasons for your answer and include any relevant examples from your own knowledge and experience. Your essay shoud be about 250-300 words. 
------------------------------- HẾT --------------------------------
Họ và tên thí sinh……………………………Số báo danh……………………….

Họ tên, chữ kí của giám thị .............………………………………………………

       (Giám thị không giải thích gì thêm. Thí sinh không được sử dụng tài liệu )
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